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(1)500ha = [ ]km?

(2) 20300000m? = |ha

(3) 7000000 m? = |km?
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?




® 300a =3m? @ 9km? = 90000 ha
@2030 m? =20.3a @ 43ha = 4300 m?
® T770a ="77ha
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@ 300a = 0.03 km?
@ 9km? = 900 ha

@ 43ha = 430000 m?
® 770a = 7.7ha




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?
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T 22 9= 1A v gy
D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
@®>0>0>0>0




@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g
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@ 30t 7190kg © 37290kg

© 38t @ 37980kg
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GRE FLAIA vl F YT 25 kg 02 IX]H
@ 37190 kg

© 37290 kg

© 38000 kg

@ 37980 kg
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6.5t = 6500 kg
gk Azt £A1 1 6500 + 250 = 26( kg)
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800cm — 8m
5 X 8 = 40(m?)
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_1800m . _

T--2600m-" "
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3080000 m?

308 ha

vV V.V V¥
0%
(L

0
o

3.08 km?
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= (1800 + 2600) x 1400 + 2 = 3080000 m?

1km? = 100 ha = 10000a = 1000000 m? ]2 &
3080000 m? = 30800a = 308 ha = 3.08 km? Y t}.




® 12ha @ 1200000 m?

® 1200000000 cm?
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@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?
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30 +2 =1155
45+ |=1155x2+30

45+ =17
[ ]=32(m)
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(24 3) x 0.7+ 2 = 1.75( km?)
= 1.75km?2 = (1.75 x 100) ha = 175 ha
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70 X 300 + 2 + (300 + 220) x 100 + 2

= 26000 + 10500 = 36500( m?) = 365a
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80 x 35 = 2800( km?)
= 2800 km?2 = 280000 ha
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2000 x 400 + 2 = 400000 m?
= 4000a + 40a = 100(7H)
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7F= 200 x 120 = 24000( m?)

=x160

7} 4 L}=8 ha = 800a = 80000 m? ©] 22
24000+ @x160 = 80000

@x160 = 56000

@= 56000 + 160 = 350( m)
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7= @ x 60

U= 190 x 90 = 17100 m?

7} 1}4=2.37ha = 23700 m?2 |2 &
@ x 60 4 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110( m)
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AE om2=2m

AR BA=14-11=3m

Wol = (164+2)x14+2+11x3+2
= 142.5 m?

= 1425000 ¢cm?
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A= 2 kg U 7H?

=i kg
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=95 x 60 = 5700m? = 57a
12.54t = 12540kg
1a 9] 7] = 12540 + 57 = 220kg
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(60 + 30) x 150 =+ 2 x 2 = 13500( m?)

13500 m? = 135a
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